
These instructions are at our current level of knowledge.  Legal requirements do not exist.  Technical issues subject to change.

09-044-0280-1
Juli 2004

TOURING   RALLYE   RACING    TECHNOLOGY

 

DIN EN ISO 9001:2000 

Zertifikat 15 100 42285 

                         Installation Instruction 
Engine Guard Extension Plate R1200GS

Contains:
1 x Engine Guard Extension Plate
3 x Retaining pipe clamp 25mm
3 x Screw countersunk head M6x16
3 x Nut self-locking M6
3 x Washer M6

Installation:
The engine guard extension is attached with the three pipe clamps, three counter
sunk screws M6x16, self-locking nuts M6 and washers M6 to the center stand.
Make sure to install the clamps correctly as show on photos so that they are not 
sticking out below the motorcycle.  Sliding surface needs to stay smooth.
Now tighten all bolt connections evenly and check tightness again after approx.
30 miles.


